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Question Id : 68634022473 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Question Numbers : (1 to 5)

Question Label : Comprehension



Read the passage very carefully and answer the questions.
Good Med Abroad Is Good Med fir Home

The directorate General of Foreign Trade (DGFT) has made 1t mandatory for all cough syrup exporters to have
their product tested and certified for quality at specified government laboratories before shipping out export
orders. This 1s welcome. It will begin to repair the reputational damage over alleged Indian cough syrup-
related deaths m some countries last year. Safeguarding quality cannot be limited to some products or to
exports.

Ensuring quality is the Central Drugs Standard Control Organization's (CDSCO) responsibility, not DGFT's
Setting norms for exports 1s like applying a band-aid to a wound that requires stitches, CDSCO needs an
overhaul. In the current fragmented system. quality and standardization are casualties. A modern. Independent.
statutory regulatory system that has the capacity to provide oversight to an increasingly complex
pharmaceutical industry while protecting public health and patient rights 13 required. CDSCO 13 the non-
statutory regulator under the health ministry. It has no jurisdiction over State Drug Regulatory Authorities
(SDRAS) that are part of state health departments. Each regulatory body acts independent of the other. This
must change. The regulatory approach. too. needs to change. Shifting from an overwhelming focus on
manufacturing to public health requires putting a doctor in charge. and shifting the regulator with
multidisciplinary teams.

India 1s the third-largest pharma manufacturer, meeting 20% of global generic demand. The $41 billion
industry 1s estimated to grow further -$50-65 billion by 2025, and $120-130 billion by 2030. Ensuring all
Indian pharma products meets quality standards will help with public health both at home and abroad, while
growing India's pharma footprint.

Sub questions

Question Number : 1 Question Id : 68634022474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CDSCO stands for:

1. Center for Drugs Taste Control Organisation

[ B

. Center for Drum Taste Control Organisation
3. Center for Drugs Taste Connection Organisation

4. Central Drugs Standard Control Organisation

Options :

68634088801. 1
68634088802. 2
68634088803. 3
68634088804. 4

Question Number : 2 Question Id : 68634022475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Synonym or the term 'Overhaul’

1. Overhear

L2

. Examine
3. Excessive growth
4. Overexpose

Options :

68634088805. 1
68634088806. 2
68634088807. 3
68634088808. 4

Question Number : 3 Question Id : 68634022476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
According to this paragraph whose duty is to ensure quality of the drugs in India ?
1. CDSCO
2. DGFT
3. CDMO

4. CDVO

Options :

68634088809. 1
68634088810. 2
68634088811. 3
68634088812. 4

Question Number : 4 Question Id : 68634022477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Generic medicines are :
1. Medicines used by high class people.
2. Medicines having old brand name.
3. Medicines having no brand name.
4, Medicines meant for plants and animals only.
Options :
68634088813. 1

68634088814. 2
68634088815. 3



68634088816. 4

Question Number : 5 Question Id : 68634022478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Billion means :

1. 10 Crore

]

. 10 Million
3. 100 Mallion

4. 1000 Million

Options :

68634088817. 1
68634088818. 2
68634088819. 3
68634088820. 4

Question Id : 68634022473 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

Read the passage very carefully and answer the questions.
Good Med Abroad Is Good Med fir Home

The directorate General of Foreign Trade (DGFT) has made 1t mandatory for all cough syrup exporters to have
their product tested and certified for quality at specified government laboratories before shipping out export
orders. This 1s welcome. It will begin to repair the reputational damage over alleged Indian cough syrup-
related deaths in some countries last year. Safeguarding quality cannot be limited to some products or to
exports.

Ensuring quality is the Central Drugs Standard Control Organization's (CDSCO) responsibility. not DGFT's
Setting norms for exports 1s like applying a band-aid to a wound that requires stitches. CDSCO needs an
overhaul. In the current fragmented system. quality and standardization are casualties. A modern. Independent.
statutory regulatory system that has the capacity to provide oversight to an increasingly complex
pharmaceutical industry while protecting public health and patient rights 1s required. CDSCO 15 the non-
statutory regulator under the health mimistry. It has no jurisdiction over State Drug Regulatory Authorities
(SDRAS) that are part of state health departments. Each regulatory body acts independent of the other. This
must change. The regulatory approach. too. needs to change. Shifting from an overwhelming focus on
manufacturing to public health requires putting a doctor in charge. and shifting the regulator with
multidisciplinary teams.

India 1s the third-largest pharma manufacturer, meeting 20% of global generic demand. The $41 billion
industry 1s estimated to grow further -$50-65 billion by 2025, and $120-130 billion by 2030. Ensuring all
Indian pharma products meets quality standards will help with public health both at home and abroad, while
growing India's pharma footprint.

Sub questions



Question Number : 1 Question Id : 68634022474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CDSCO stands for :

1. Center for Drugs Taste Control Organisation

[ o)

. Center for Drum Taste Control Organisation
3. Center for Drugs Taste Connection Organisation

4. Central Drugs Standard Control Organisation

Options :

68634088801. 1
68634088802. 2
68634088803. 3
68634088804. 4

Question Number : 2 Question Id : 68634022475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym or the term 'Overhaul’

1. Overhear

L2

. Examine
3. Excessive growth
4. Overexpose

Options :

68634088805. 1
68634088806. 2
68634088807. 3
68634088808. 4

Question Number : 3 Question Id : 68634022476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to this paragraph whose duty is to ensure quality of the drugs in India ?
1. CDSCO
2. DGFT
3. CDMO

4. CDVO



Options :

68634088809. 1
68634088810. 2
68634088811. 3
68634088812. 4

Question Number : 4 Question Id : 68634022477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Generic medicines are ;

1. Medicines used by high class people.

[

. Medicines having old brand name.

. Medicines having no brand name.

LF¥]

4. Medicines meant for plants and animals only.

Options :

68634088813. 1
68634088814. 2
68634088815. 3
68634088816. 4

Question Number : 5 Question Id : 68634022478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Billion means :

1. 10 Crore

[

. 10 Mallion

. 100 Mallion

[ ¥%]

4. 1000 Million

Options :

68634088817. 1
68634088818. 2
68634088819. 3
68634088820. 4

Sub-Section Number : 2
Sub-Section Id : 686340732
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634022479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pick out the meaning of the underlined word in the following sentence:
He 1s done for.

1. revived

| )

. ruined
3. glorified

4. encouraged

Options :

68634088821. 1
68634088822. 2
68634088823. 3
68634088824. 4

Question Number : 6 Question Id : 68634022479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the meaning of the underlined word in the following sentence:

He 1s done for.

1. revived

| )

. tuined
3. glorified
4. encouraged

Options :

68634088821. 1
68634088822. 2
68634088823. 3
68634088824. 4

Question Number : 7 Question Id : 68634022480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rearrange the following parts of a sentence to make a meaningful sentence.
P. much as a common

Q. love. friendship and respect

R. do not unite people as

S. hatred for something

Choose the correct answer from the options given below:

I.LS.PR.Q

[

Q.S.R.P
3.P.Q.S.R

4.Q.R.PS

Options :

68634088825. 1
68634088826. 2
68634088827. 3
68634088828. 4

Question Number : 7 Question Id : 68634022480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rearrange the following parts of a sentence to make a meaningful sentence.
P. much as a common

Q. love. friendship and respect

R. do not unite people as

S. hatred for something

Choose the correct answer from the options given below:

1.S.PR.Q

[ ]

Q.S.R.P
3.P.Q.S.R

4.Q.R.PS

Options :

68634088825. 1
68634088826. 2
68634088827. 3
68634088828. 4



Question Number : 8 Question Id : 68634022481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the part of speech of the underlined word in the following sentence.
You are paying less attention to your studies than you used to do.

1. Noun

| )

. Pronoun
3. Verb
4, Adjective

Options :

68634088829. 1
68634088830. 2
68634088831. 3
68634088832. 4

Question Number : 8 Question Id : 68634022481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identity the part of speech of the underlined word in the following sentence.

You are paying less attention to your studies than yvou used to do.

1. Noun

| ]

. Pronoun
3. Verb
4. Adjective

Options :

68634088829. 1
68634088830. 2
68634088831. 3
68634088832. 4

Question Number : 9 Question Id : 68634022482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the passive voice of the following sentence.

She looks after the child.

1. The child are looked after by her.

| ]

. The child were looked after by her.
3. The child is looked after by her.

4. The child looks after her.

Options :

68634088833. 1
68634088834. 2
68634088835. 3
68634088836. 4

Question Number : 9 Question Id : 68634022482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the passive voice of the following sentence.

She locks after the child.

1. The child are looked after by her.

[ B

. The child were looked after by her.

LS ]

. The child is looked after by her.

4, The child looks after her.

Options :

68634088833. 1
68634088834. 2
68634088835. 3
68634088836. 4

Question Number : 10 Question Id : 68634022483 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the one word for the followmng:
" s . cl "
Possessing unlimited powers.

1. Omuniscient

| )

. Omnipotent
3. Omnipresent

4. Omnicompetent

Options :

68634088837. 1
68634088838. 2
68634088839. 3
68634088840. 4

Question Number : 10 Question Id : 68634022483 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the one word for the followng:
LL . ¥ : = "
Possessing unlimited powers,

1. Omniscient

| )

. Omnipotent
3. Omnipresent

4. Omnicompetent

Options :

68634088837. 1
68634088838. 2
68634088839. 3
68634088840. 4

Question Number : 11 Question Id : 68634022484 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following was an Indian astronomer. mathematician and astrologer who lived in Upain i the
6t century AD and was one of the nine jewels (Navratnas) of the court of legendary ruler Yashodharman

vikramaditya of Malwa?

1. Bhaskaracharya

[

. Gotam Muni

. Ishwaralorishna

L¥¥]

. Varahamihira

s

Options :

68634088841. 1
68634088842. 2
68634088843. 3
68634088844. 4

Question Number : 11 Question Id : 68634022484 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following was an Indian astronomer. mathematician and astrologer who lived in Ujjain in the
6t century AD and was one of the nine jewels (Navratnas) of the court of legendary ruler Yashodharman

vikramaditya of Malwa?

1. Bhaskaracharya

(]

. Gotam Muni

. Ishwaralrishna

%)

. Varahamihira

e

Options :

68634088841. 1
68634088842 2
68634088843. 3
68634088844. 4

Question Number : 12 Question Id : 68634022485 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first Indian Athlete to win Olympic Gold Medal for India 1s :

1.PT. Usha

(]

. Vijendra Singh
3. Neeraj Chopra

4. PV. Sindhn



Options :

68634088845. 1
68634088846. 2
68634088847. 3
68634088848. 4

Question Number : 12 Question Id : 68634022485 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first Indian Athlete to win Olympic Gold Medal for India 1s :

1.P.T. Usha

o)

. Vijendra Singh

L¥¥]

. Neeraj Chopra

4. PV. Sindhn

Options :

68634088845. 1
68634088846. 2
68634088847. 3
68634088848. 4

Question Number : 13 Question Id : 68634022486 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Milk produced during the initial few days of 'lactation’ 1s called :
1. Antrum
2. Colostrum

. Fulerum

L¥¥]

4. Cholesterol

Options :

68634088849. 1
68634088850. 2
68634088851. 3
68634088852. 4

Question Number : 13 Question Id : 68634022486 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Milk produced during the initial few days of 'lactation’ 1s called :

1. Antrum

(]

. Colostrum
3. Fulerum

4. Cholesterol

Options :

68634088849. 1
68634088850. 2
68634088851. 3
68634088852. 4

Question Number : 14 Question Id : 68634022487 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The caves and rock-cut temples at Ellora belong to which of the following religion(s)?

A. Confucianism
B. Jainism

C. Buddhism

D. Hindu

Choose the correct answer from the options given below:

1. A. B and D only

[

.B, Cand D only
3. Cand D only

4. D only

Options :

68634088853. 1
68634088854. 2
68634088855. 3
68634088856. 4

Question Number : 14 Question Id : 68634022487 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The caves and rock-cut temples at Ellora belong to which of the following religion(s)?

A. Confucianism
B. Jainism

C. Buddhism

D. Hindu

Choose the correct answer from the options given below:

1. A. B and D only

[

.B. C and D only
3. C and D only

4. D only

Options :

68634088853. 1
68634088854. 2
68634088855. 3
68634088856. 4

Question Number : 15 Question Id : 68634022488 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following constitute the electoral college for electing the President of India?

ected members of Lok Sabha

AL El
B. Elected members of the Legislative Assembly of each state
1
1

C. Elected members of the Legislative Council
D. Elected members of Rajya Sabha
Choose the correct answer from the options given below:

1. A, B and D only

[

A, Cand D only
3.B.Cand D only

4. A and B only

Options :

68634088857. 1
68634088858. 2
68634088859. 3
68634088860. 4

Question Number : 15 Question Id : 68634022488 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following constitute the electoral college for electing the President of India?

lected members of Lok Sabha

lected members of the Legislative Assembly of each state
C. Elected members of the Legislative Council

D. Elected members of Rajya Sabha

AE
B.E

Choose the correct answer from the options given below:

1. A. B and D only

[

A, Cand D only

.B. C and D only

[¥¥]

4. A and B only

Options :

68634088857. 1
68634088858. 2
68634088859. 3
68634088860. 4

Question Number : 16 Question Id : 68634022489 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a row of students. the position of Vikas from the left side of the row is 18 and the position of Vikas from

8™ Find the total number of students in the row?

the right side of the row 13 3
1. 55
2. 56

. 57

[¥¥)

4. 58

Options :

68634088861. 1
68634088862. 2
68634088863. 3
68634088864. 4

Question Number : 16 Question Id : 68634022489 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a row of students. the position of Vikas from the left side of the row 1s 18t and the position of Vikas from

the right side of the row 1s 3

1.

[

e

8™ Find the total number of students in the row?

55

. 36

ST

. 58

Options :

68634088861. 1
68634088862. 2
68634088863. 3
68634088864. 4

Question Number : 17 Question Id : 68634022490 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If for each number in the given options, all their digits are arranged in descending order, which among the
tollowing corresponds to the smallest number?

1l

2

[¥%)

4.

865

. 468

. 593

786

Options :

68634088865. 1
68634088866. 2
68634088867. 3
68634088868. 4

Question Number : 17 Question Id : 68634022490 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If for each number in the given options, all their digits are arranged in descending order, which among the
tollowmg corresponds to the smallest number?

1l

2

[¥¥]

4.

865

468

- 593

786

Options :



68634088865. 1
68634088866. 2
68634088867. 3
68634088868. 4

Question Number : 18 Question Id : 68634022491 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement : No country is absolutely self-dependent these days.
Conclusion : I It 15 impossible to grow and produce all that a country needs.

II. The people of the country in general have become lazy.

1. Only II conclusion follows.

[

. Both I and IT conclusion follows.

. Either I or IT follows.

LN

e

. Only I conclusion follows.

Options :

68634088869. 1
68634088870. 2
68634088871. 3
68634088872. 4

Question Number : 18 Question Id : 68634022491 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement : No country is absolutely self-dependent these days.
Conclusion : I It 15 impossible to grow and produce all that a country needs.

II. The people of the country in general have become lazy.

1. Only II conclusion follows.

[

. Both I and IT conclusion follows.

. Either I or IT follows.

LN

i

. Only I conclusion follows.

Options :

68634088869. 1
68634088870. 2
68634088871. 3
68634088872. 4



Question Number : 19 Question Id : 68634022492 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series : 1224, 612, 204, 102, 34........ Which one of the following numbers should come next in the
series?

1. 18

_L_J

17
3. 16
4. 15

Options :

68634088873. 1
68634088874. 2
68634088875. 3
68634088876. 4

Question Number : 19 Question Id : 68634022492 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series : 1224, 612, 204, 102, 34........ Which one of the following numbers should come next in the
series?

| ]
—
e |

4. 15

Options :

68634088873. 1
68634088874. 2
68634088875. 3
68634088876. 4

Question Number : 20 Question Id : 68634022493 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Six friends Arun. Babita, Chandra. Dipika. Ekta and Faria are sitting in a row facing towards North. Chandra
1s sitting between Arun and Ekta. Dipika 1s not at the end. Babita 1s sitting immediate right to Ekta. Faria 1s not
at the right end. Who is at the immediate right of Dipila?

1. Arn

[

. Babita
3. Chandra

4. Eldta

Options :

68634088877. 1
68634088878. 2
68634088879. 3
68634088880. 4

Question Number : 20 Question Id : 68634022493 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Six friends Arun. Babita, Chandra. Dipika. Ekta and Faria are sitting in a row facing towards North. Chandra
1s sitting between Arun and Ekta. Dipika is not at the end. Babita 1s sitting immediate right to Ekta. Faria 12 not
at the right end. Who is at the immediate right of Dipila?

1. Arun

(o

. Babita
3. Chandra

4, Eldta

Options :

68634088877. 1
68634088878. 2
68634088879. 3
68634088880. 4

Question Number : 21 Question Id : 68634022494 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the equation 3x” — 10x + 2p = 0 has equal roots then the value of p is -

[

Options :

68634088881. 1
68634088882. 2
68634088883. 3
68634088884. 4

Question Number : 21 Question Id : 68634022494 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the equation 3x* — 10x + 2p = 0 has equal roots then the value of p is -

25

L
|

[

Options :

68634088881. 1
68634088882. 2
68634088883. 3
68634088884. 4

Question Number : 22 Question Id : 68634022495 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If a certamn sum mvested on compound interest becomes 3 tumes m 4 years, then the no. of years in which this
sum will become 27 times at the same rate of interest 1s -

1. 16 years

[

. 18 years

|5

. 15 years
4. 12 years

Options :

68634088885. 1
68634088886. 2
68634088887. 3
68634088888. 4

Question Number : 22 Question Id : 68634022495 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a certamn sum mvested on compound interest becomes 3 tumes i 4 years, then the no. of years in which this
sum will become 27 times at the same rate of interest 1s -

1. 16 years

[

. 18 years

L¥¥]

. 15 years
4. 12 years

Options :

68634088885. 1
68634088886. 2
68634088887. 3
68634088888. 4

Question Number : 23 Question Id : 68634022496 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Two fair dice are thrown. The probability that the number of tumes the first dice exceeds 3 and that the second

exceeds 4 will be :

j 2
6

th

(]
I

|t o=

=

Options :

68634088889. 1
68634088890. 2
68634088891. 3
68634088892. 4

Question Number : 23 Question Id : 68634022496 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two fair dice are thrown. The probability that the number of tumes the first dice exceeds 3 and that the second
exceeds 4 will be :

j =
6

A

o=

| 7

=h

Options :

68634088889. 1
68634088890. 2
68634088891. 3
68634088892. 4

Question Number : 24 Question Id : 68634022497 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average of 11 numbers 1s 52. The average of the first 6 numbers 1s 55 and the average of last 6 numbers 1s
49. The sixth number 1s :

1. 51

[

.48
3.52

4. 55

Options :

68634088893. 1
68634088894. 2
68634088895. 3
68634088896. 4

Question Number : 24 Question Id : 68634022497 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average of 11 numbers 15 52. The average of the first 6 numbers i3 55 and the average of last 6 numbers 1s
49. The sixth number 1s :

Options :

68634088893. 1
68634088894. 2
68634088895. 3
68634088896. 4

Question Number : 25 Question Id : 68634022498 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two trams each of length 250 m start at the same time on two parallel tracks from point A and point B and
approached each other with speed of 36 kim/hr and 44 km/hr respectively. When they crossed each other. it was
found that one train has moved 40 km more than the other. The distance between A and B 1s :

1.399.0 lan

[

. 400.0 lan

3.390.5 kan

4, 400.5 lon



Options :

68634088897. 1
68634088898. 2
68634088899. 3
68634088900. 4

Question Number : 25 Question Id : 68634022498 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two trams each of length 250 m start at the same time on two parallel tracks from point A and point B and
approached each other with speed of 36 kim/hr and 44 km/hr respectively. When they crossed each other. it was
found that one train has moved 40 km more than the other. The distance between A and B 1s :

1.399.0 lan

|

. 400.0 lan
3.390.5 kan

4, 400.5 lon

Options :

68634088897. 1
68634088898. 2
68634088899. 3
68634088900. 4

Part B: Hospital Management

Section Id : 686340446
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340733
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634022499 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 18 a learming disability, which affects imndividual's ability to break down words into its phonemes and hence
affecting the development of skills in reading, writing and spelling. This 1s called

1. Dyslexia

[

. Dysgraphia

. Dyscalculia

|5

4. Dysnomia

Options :

68634088901. 1
68634088902. 2
68634088903. 3
68634088904. 4

Question Number : 26 Question Id : 68634022499 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UG U SUTTH Si&fHdI & Sl Al o Wea| Bl Wi (BIHE) H A5 Bl THIfdd Bl § 3R ST Te-
fera 1R gt & faerd 1 UHIfad Sl § | T8 Headi 6

1. fewafdaar
feaniear

3. Feshepforn
4. e

Options :

68634088901. 1
68634088902. 2
68634088903. 3
68634088904. 4

)

Question Number : 27 Question Id : 68634022500 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following gas 1s responsible for depletion of ozone layer--
1. CO, (Carbondioxide)
2. Chloroflouro carbons (CFCS)
3. Water Vapour

4, Carbon Monoxide

Options :



68634088905. 1
68634088906. 2
68634088907. 3
68634088908. 4

Question Number : 27 Question Id : 68634022500 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFafeRad § 3 BH I 19 SISl 1Rd & &7 & Ay e -

. COH(TET STRHFES)

-

" o Wl ¥

2. FEARIFARI BIE (CFCs)

3. vfeldi™y

s

R e e o2y

Options :

68634088905. 1
68634088906. 2
68634088907. 3
68634088908. 4

Question Number : 28 Question Id : 68634022501 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'"Endemic Disease' means the disease:

[

.18 prevalent among animals

[

. occurs clearly in excess of normal expectancy

. exhibits seasonal pattern

L%

4. 1s constantly present in a given population

Options :

68634088909. 1
68634088910. 2
68634088911. 3
68634088912. 4

Question Number : 28 Question Id : 68634022501 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TSiiE I BT 34 § a8 A
o el & e &

[—y

Y =9 I Y YT ¥ HfE H o o ar g
Hrge fe gufar g
4. & 7S e § PO Sufed tedr g

Options :

68634088909. 1
68634088910. 2
68634088911. 3
68634088912. 4

[

L

Question Number : 29 Question Id : 68634022502 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A primary Health Centre (PHC) caters to a rural population of:
1. 20.000
2. 30,000
3. 40,000

4. 50,000

Options :

68634088913. 1
68634088914. 2
68634088915. 3
68634088916. 4

Question Number : 29 Question Id : 68634022502 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ui wWreg &g P U S8 &1 9aTd 3T 5.

1. 20.000

| ]

. 30.000
3.40.000

4. 50.000

Options :
68634088913. 1
68634088914. 2



68634088915. 3
68634088916. 4

Question Number : 30 Question Id : 68634022503 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Most harmful metal cotamination in drinking water 1s of:
1. Copper
2. Iron

. Zine

LF¥)

4, Lead

Options :

68634088917. 1
68634088918. 2
68634088919. 3
68634088920. 4

Question Number : 30 Question Id : 68634022503 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0oold § 9ad SRR YT Hg0 3 -

W

1. Pl

| ]

. ITRA
3. foi®
4. de(dmm

Options :

68634088917. 1
68634088918. 2
68634088919. 3
68634088920. 4

Question Number : 31 Question Id : 68634022504 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Full Form of DALY 1s

[

. Disability Associated Life Year

(]

. Disability Adjusted Life Year
3. Disease Associated Life Year

4. Disease Adjusted Life Year

Options :

68634088921. 1
68634088922. 2
68634088923. 3
68634088924. 4

Question Number : 31 Question Id : 68634022504 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

DALY ST RIAHE :

1. Tsufeferd taiftcs as® s
Teufaferdt teoRes asw 3R

Tt Tifges O s

0y -y

4. fediv veoie s agw s

[

L]

Options :

68634088921. 1
68634088922. 2
68634088923. 3
68634088924 4

Question Number : 32 Question Id : 68634022505 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which country in the world has the highest Life Expectancy Rate
1. USA
2. Japan
3. China

4, France

Options :
68634088925. 1
68634088926. 2



68634088927. 3
68634088928. 4

Question Number : 32 Question Id : 68634022505 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3y & ®H Y S H I=ad ofig ORI X § -
ITET.
RSiEiE|
3.9

et

| )

4.7019

Options :

68634088925. 1
68634088926. 2
68634088927. 3
68634088928. 4

Question Number : 33 Question Id : 68634022506 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

(Blood Groups) (Donate blood to)
Blood GroupA | [ |Aand B

Blood Group B | 11 |[Onlv AB

Blood Group AB|IIL JAB. A . B and O
Blood Group O | IV. |B and AB

o|o|w|>

Choose the correct answer from the options given below:

1. A-I. B-III. C-II. D-IV

[

CA-L B-IV, C-11. D-III

A-IL B-L. C-IV, D-III

LF¥]

4. A-IV, B-III. C-II. D-I

Options :

68634088929. 1
68634088930. 2
68634088931. 3
68634088932. 4



Question Number : 33 Question Id : 68634022506 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 151 9= 11 9 e Sifoy

el | T G

A [BEERT A I [AduTaB
B. iR ariB 1L [had AB
C. [pliRaa |OL|aBAB TUO
D. [FER &0 V. [B TUT AB

i fau T fomedl O ¥ 98l 3R &1 994 Hifl -

1. A-I. B-III. C-II. D-IV

2. AL B-IV, C-11. D-III

L A-IL B-1. C-IV, D-III

L]

4. A-IV. B-IIL. C-II. D-I

Options :

68634088929. 1
68634088930. 2
68634088931. 3
68634088932. 4

Question Number : 34 Question Id : 68634022507 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement I: Hazardous. infectious, radioactive & sharp are four types of medical waste
Statement IT: Medical Wastes can be thrown without any treatment
In the hight of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

| )

. Both Statement I and Statement IT are false

. Statement I is true but Statement 1T 1s false

[¥%)

4. Statement [ 1s false but Statement I is true

Options :

68634088933. 1
68634088934. 2
68634088935. 3
68634088936. 4



Question Number : 34 Question Id : 68634022507 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
F Gt FEfRrmuE:
Y LEFERS SHHe J(SaUfaed aul AU @uR) 9R YPR & SfsHd o9y §id &
HYA I:ISHA SURIY S 441 5 SU=R & bl o §adl ¢
SWRITT HYA & fTeite d A fin v fawedi # 3 98} S &1 997 Fifo:
1L PRI EH T &
BYA T HR I GHI 3 HH &

| S}

PYTI TS, AT HYT I 3T &

L]

4, PYT I HTI B, Afp FYA I II 8.

Options :

68634088933. 1
68634088934. 2
68634088935. 3
68634088936. 4

Question Number : 35 Question Id : 68634022508 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement I: Elephantasis 1z caused by nematodes.(round worm)

Statement II: These nematodes are transmitted through the bites of infected mosquitos

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

[ ]

. Both Statement [ and Statement II are false
3. Statement I is true but Statement IT iz false

4, Statement I is false but Statement IT is true

Options :

68634088937. 1
68634088938. 2
68634088939. 3
68634088940. 4

Question Number : 35 Question Id : 68634022508 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EIECICAIEICUR) S

YT Tl H (A aTe) MapREEs) & gRI foar §rd g

®YA II: T8 TADHHHECTS) HehiHd J=5R1 & BIc- & gRI bar ol g .

JRIGT HYF & AP H Al (S0 0 [deed] H U Usl 3R &1 999 DI9I0:
1. YA AR I S 9 §

PYTT AR TSI ST §

| ]

3. PYTITI S, AfpT FYTI TS

4. PUTIITTE . AfpT YT T B,

Options :

68634088937. 1
68634088938. 2
68634088939. 3
68634088940. 4

Question Number : 36 Question Id : 68634022509 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement I: Alzheimer 1s a degenerative brain disease that usually starts m late nuddle age

Statement IT: Memory loss 1s main problem in this disorder

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

2. Both Statement I and Statement IT are true

3. Statement I 1s true but Statement IT 15 false

4, Statement [ is false but Statement IT is true

Options :

68634088941. 1
68634088942. 2
68634088943. 3
68634088944. 4

Question Number : 36 Question Id : 68634022509 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4Té“dTE5?F?TEHITFI%i
HY I: TSR U HRETS Ul I/ 8 Sl uid: Saed A g 1 g3 gid1 ¢

®YA I1: Hid dY 59 [TPR & I3 9931 5 |

JRIGT HYF & AP H Al (S0 0 [deed] H U Usl 3R &1 999 DI9I0:
1. HYA AR I G G ¢ |

BY 1 RIS SR B

| ]

3. PYTITI § ., Qe FYTII T T

4. DU T &, AT YT T TI B

Options :

68634088941. 1
68634088942 2
68634088943. 3
68634088944. 4

Question Number : 37 Question Id : 68634022510 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Statement I: The components of human blood meclude Plasma, RBCs, WBCs and platelets

Statement IT: The main function of platelets is blood clotting in order to control bleeding

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false

3. Statement I 1s true but Statement IT 15 false

4, Statement [ is false but Statement IT is true

Options :

68634088945. 1
68634088946. 2
68634088947. 3
68634088948. 4

Question Number : 37 Question Id : 68634022510 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EIECICAIEICUR) S
HYF I: Td SR & 9| I Fifed § @i, SR8, Seedl 3T, a1 fazamy
®YA 11 [T &1 4350 B I 91d &1 A+ & [T Yah] JHT &1 5|
JRIGT HYF & AP H Al (S0 0 [deed] H U Usl 3R &1 999 DI9I0:

1. HYA AR I G G ¢ |
BY 1 RIS SR B

| ]

3. PYTITI § ., Qe FYTII T T

4. DU T &, AT YT I TI B

Options :

68634088945. 1
68634088946. 2
68634088947. 3
68634088948. 4

Question Number : 38 Question Id : 68634022511 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement I: Malignant Malaria 1s caused by Plasmodium falciparum

Statement IT: Spread of Malaria can be checked by reducing mosquito breeding sites
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement [ and Statement II are true

[

. Both Statement [ and Statement I are false

. Statement [ 1s true but Statement IT 1s false

LN

4, Statement [ is false but Statement II 1s true

Options :

68634088949. 1
68634088950. 2
68634088951. 3
68634088952. 4

Question Number : 38 Question Id : 68634022511 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= &1 P RUTU E:
HYA LA Dol @rel/sgy Bedigea g1 a1 Wil & |
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IR HYA & AP H, A (S0 0 [deed] H U Usl 30 &1 999 DI9T0:
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3. PYTITI § ., Qe FYTII T T

| ]

4. DU T &, AT YT I TI B

Options :

68634088949. 1
68634088950. 2
68634088951. 3
68634088952. 4

Question Number : 39 Question Id : 68634022512 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement I: A CT Scan m like a series of X-rays taken very quickly. when combined provide a 3D mmage of
body part.

Statement IT: MRI has a large. powerful magnet & radiowave to create a similar picture.

In the hight of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4, Statement I 1s false but Statement IT is trus

Options :

68634088953. 1
68634088954. 2
68634088955. 3
68634088956. 4

Question Number : 39 Question Id : 68634022512 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HU 1: L& T T DI U el ol & forgH @iid U U TR UHR 96 S DI TR & 3
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JRIGT HYF & AP H Al (S0 0 [deed] H U Usl 30 &1 999 DI9I0:
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3. PYTITI § ., Qe FYTII T T

4. PUYT 1 HTT T, AfpT FYTII A B

Options :

68634088953. 1
68634088954. 2
68634088955. 3
68634088956. 4

Question Number : 40 Question Id : 68634022513 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement I: Carbon Bomb is a o1l or gas project that will result in atleast a billion tonnes of CO, emmisions

over its lifetime
Statement II: Whenever coal. oil or gas 1s extracted it results in pollution and environmental degradation
In the hight of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

2. Both Statement I and Statement IT are false

. Statement [ 1s true but Statement IT 1s false

LN

4, Statement [ is false but Statement II 1s true

Options :

68634088957. 1
68634088958. 2
68634088959. 3
68634088960. 4

Question Number : 40 Question Id : 68634022513 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634088957. 1
68634088958. 2
68634088959. 3
68634088960. 4

Question Number : 41 Question Id : 68634022514 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement I: Benign & Malignant are two types of cancers.

Statement IT: Metastasis 1s the condition when cancer cells are confined to the site of origin only and do not
spread.

In the hight of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement 1T is false

4, Statement I is false but Statement IT is true

Options :

68634088961. 1
68634088962. 2
68634088963. 3
68634088964. 4

Question Number : 41 Question Id : 68634022514 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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BHYA I fa 1S qu1 Bfeie PR S A UPR G|
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| ]

3. PYTITI S, AfpT FYTI TS

4. PUTIITAE . AfpT YT T B,

Options :

68634088961. 1
68634088962. 2
68634088963. 3
68634088964. 4

Question Number : 42 Question Id : 68634022515 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement I: Leading cause of diarrhea 1s Rotavirus.
Statement IT: Rotavirus enters the body through skin.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement [ and Statement II are true

[

. Both Statement [ and Statement I are false

. Statement [ 1s true but Statement IT 1s false

LN

4, Statement [ is false but Statement II 1s true

Options :

68634088965. 1
68634088966. 2
68634088967. 3
68634088968. 4

Question Number : 42 Question Id : 68634022515 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634088965. 1
68634088966. 2
68634088967. 3
68634088968. 4

Question Number : 43 Question Id : 68634022516 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are true:

A. Plasma 1s the liquid part of blood.

B. Red blood cells carry oxygen from lungs to the rest of the body.
C. Platelets fight infections.

D. WBCs are also called leucocytes.

E. Blood group AB 1s a universal donor.

Choose the correct answer from the options given below:

1.Only A, Band D

[ )

. Only A, Cand D
3.0nlyB,Cand E

4. OnlyA,Band E

Options :

68634088969. 1
68634088970. 2
68634088971. 3
68634088972. 4

Question Number : 43 Question Id : 68634022516 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
FEfaRT AP I PYT T §

A. WIS B BT AR HIT 2 H
B. W Y& ITRIeh] BB ST 8 0, Pl YRR & 37 UF I Ugdrdi ¢ |
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3.%dd B, C IRE
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Options :

68634088969. 1
68634088970. 2
68634088971. 3
68634088972. 4

| )

Question Number : 44 Question Id : 68634022517 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are not the surgical instruments

A. Scalpel

B. Reflex hammer
C. Scissors

D. Stethoscope

E. Eetractor

Choose the correct answer from the options given below:

1. A. B. C Only

|

.E. A Only
3.B.D Ounly
4. C.D Only

Options :

68634088973. 1
68634088974. 2
68634088975. 3
68634088976. 4



Question Number : 44 Question Id : 68634022517 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7o & 9 o1 I gfsfed Suso 6 o

i feu U fasedl § ¥ gl IR &1 90 Bi-
1.%ad A.B.C
. $hdd E. A
.®ad B.D
4.%ad C.D
Options :
68634088973. 1
68634088974, 2

68634088975. 3
68634088976. 4

| )

L]

Question Number : 45 Question Id : 68634022518 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Write the correct sequence for the steps involved in Planning:
A. Establishment of objectives
B. Assessment of resources
C. Analysis of health situation
D. Preparation of alternate plans
1.C.B,D. A
2.C,AB.D

.B.A.C.D

[¥%)

4 A B.C.D

Options :

68634088977. 1
68634088978. 2
68634088979. 3
68634088980. 4



Question Number : 45 Question Id : 68634022518 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gioi1 H iferd @Rl & HHdg DI
A. IE0! DT RITTT
B. T 1 e
C. W fRyfd &1 faweimor

D. dfcde YIS M

Hid U 70 f[deredl § ¥ 9el 3R &1 904 Bioil.-

1.C.B.D. A

[ )

.C.A.B.D
3.BA.C.D

4 A B CD

Options :

68634088977. 1
68634088978. 2
68634088979. 3
68634088980. 4

Question Number : 46 Question Id : 68634022519 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are not correct with respect to our eyes

A. Each eye has 120M rods. which help us to distinguish colours

B. Cones in our eye help us to see black and white

C. The minimum distance required to see objects clearly by a normal eye 1s 25cm which 1s called distance
of distinet vision

D. If you can't see the far away objects clearly, you are suffering from Myopia

1.AB&D

| ]

.B & C Only
3. A& B Only
4.B.C & D Only

Options :

68634088981. 1
68634088982. 2
68634088983. 3
68634088984 4



Question Number : 46 Question Id : 68634022519 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gARI sifal & da o e 5 O a1 98t 16l 82

A, U @ T 120 MRS BIdl & &1 T H [aseT &3 & 9@ gl g |

B. AN i@l @ 1 g4 Ylhe g Plell o@- H Ged ald o |

C'.Wi%l 3iiE o foru fopdl o ol e &1 gHaH Saa a3 25 9.1 ¢ ford @y =¥ &1 gl @l
EIGIE
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- fau 7Y famedt H ¥ Wet SR o1 997 DI
1.A.B 3R D

. FaAIB HR C

.Pad A AR B

4. %A B, C AR D

Options :

68634088981. 1
68634088982. 2
68634088983. 3
68634088984. 4

()
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Question Number : 47 Question Id : 68634022520 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the followmg in the right sequence for 'Global Warming'

A. Release of CO, CFCs and other green house gases.

B. Increase of temperature of atmosphere due to Green House Effect.
C. Burning of fuel. deforestation and excessive use of Automobiles.
D. This leads to Global Warming which has many undesirable effects.
E. Melting of Glaciers. climate change and floods.

1. C.B.A.D.E
2.C.A B.D.E
JAC.B.D.E

4 B.AC.D.E

Options :

68634088985. 1
68634088986. 2
68634088987. 3



68634088988. 4

Question Number : 47 Question Id : 68634022520 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[Frafarad syl ST di¥ye argawrar & < I 9eT 4 guierd S|

A. CO, BT HI=H U1 3= F9 3139 7191 1
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1.C.B.A.D.E

| ]

C.A.B.D.E
3.A/C.B.D.E

4. B.A.C.D.E

Options :

68634088985. 1
68634088986. 2
68634088987. 3
68634088988. 4

Question Number : 48 Question Id : 68634022521 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What does CCBM stands for

1. College of Cellular and Molecular Biology

[

. Centre for Cellular and Molecular Biology
3. Centre for Cellular and Metabolic Biology

4. College for Cellular and Metabolic Biology

Options :

68634088989. 1
68634088990. 2
68634088991. 3
68634088992. 4

Question Number : 48 Question Id : 68634022521 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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[n]

e BR Yegeil TS TIfRIeR drdicis
3. 9 BR Yoger TS Herdifos drEiaie
4. Plae BR YegeRk TS Herdiiad arialst

Options :

68634088989. 1
68634088990. 2
68634088991. 3
68634088992. 4

[

Question Number : 49 Question Id : 68634022522 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Filing. Indexing and Retrieving records work 1s carried

1. Medical records department

(]

. Mamtenance department
3. Therapeutics

4. Admmistration department

Options :

68634088993. 1
68634088994. 2
68634088995. 3
68634088996. 4

Question Number : 49 Question Id : 68634022522 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Brsfon Sefdm Us Naie urnd &3 &1 & g fqum & far Srar g2
1. Bi&®a Repls faum

. 3 fqym .

3. i

4. Y= faHmT,

Options :
68634088993. 1

)



68634088994. 2
68634088995. 3
68634088996. 4

Question Number : 50 Question Id : 68634022523 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a National Health Scheme of India

1. UHIS

[ o)

.AABY

L¥¥]

. Aayushman Bharat

4. SMILE

Options :

68634088997. 1
68634088998. 2
68634088999. 3
68634089000. 4

Question Number : 50 Question Id : 68634022523 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafaad § 9 & b U YR TP W@y gl T8 82

1. UHIS

[ ]

CAABY

Lad

ST YRA
4. SMILE

Options :

68634088997. 1
68634088998. 2
68634088999. 3
68634089000. 4

Question Number : 51 Question Id : 68634022524 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Isotransplants are done between the

1. identical twins

(]

. man and animal
3. two siblings

4. man and woman

Options :

68634089001. 1
68634089002. 2
68634089003. 3
68634089004 4

Question Number : 51 Question Id : 68634022524 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
rgiciawie foe e fobar Sar g

. SITGHI qYT %ig

ARG

4. Q5N YT Fl,

[

| )

L

Options :

68634089001. 1
68634089002. 2
68634089003. 3
68634089004. 4

Question Number : 52 Question Id : 68634022525 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the three P's in 'Triple Bottom Line Prineiple'?

1. People. Profi. Planet

[

. People. Power. Production
3. Public. Planet. Productivity

4. Public. Production. Profit

Options :
68634089005. 1
68634089006. 2



68634089007. 3
68634089008. 4

Question Number : 52 Question Id : 68634022525 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feue afex wg el & diH ps |1 82
1. 419q, Wifthe, wiHe

Oy Wt

. Uigd, diaz, UrgayH
4. Uiedi®, UrsaeH, Hithe

Options :

68634089005. 1
68634089006. 2
68634089007. 3
68634089008. 4

| )

T

Question Number : 53 Question Id : 68634022526 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The fullform of FSMA(2011) 1s:

1. Food Security Managamenet Act

[

. Food SafetyModernization Act

. Food Supply Management Act

L%

4. Food Service Management Act

Options :

68634089009. 1
68634089010. 2
68634089011. 3
68634089012. 4

Question Number : 53 Question Id : 68634022526 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089009. 1
68634089010. 2
68634089011. 3
68634089012. 4

| )

Lad

Question Number : 54 Question Id : 68634022527 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first Pharmacy couneil was constituted by Central Govt in the year
1. 1959
2. 1969

. 1960

LF¥)

4. 1949

Options :

68634089013. 1
68634089014. 2
68634089015. 3
68634089016. 4

Question Number : 54 Question Id : 68634022527 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UH BTHY BRI 11189 $g IRPR gR13Y a4 | far 1T

1. 1959

)

. 1969

. 1960

T

4. 1949

Options :
68634089013. 1
68634089014. 2



68634089015. 3
68634089016. 4

Question Number : 55 Question Id : 68634022528 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Glasgow Clumate Pact signed i 2021, urges countries to move towards net zero emissions by or around:
1. 2030

2. 2035

[ ¥%]
| ]
[
e
=

4. 2050

Options :

68634089017. 1
68634089018. 2
68634089019. 3
68634089020. 4

Question Number : 55 Question Id : 68634022528 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR STeTary FHSIdl UR 2021 H BXRI&R g3 Gl 21 &1 a9y d% ¢ SRl Ieui B B 3R
IR B §

1.2030

| ]
| ]
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r

faa
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s
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4. 2050

Options :

68634089017. 1
68634089018. 2
68634089019. 3
68634089020. 4

Question Number : 56 Question Id : 68634022529 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What colour dustbin 1s used for hazardous waste from hospital?

1. Red

(]

.Blue
3. Transparent

4, Green

Options :

68634089021. 1
68634089022. 2
68634089023. 3
68634089024. 4

Question Number : 56 Question Id : 68634022529 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IO & PR AR & 010 $F O 3 &1 sw&faq wgi g i g
1. 91,
e
3. URaR.
4.8

Options :

68634089021. 1
68634089022. 2
68634089023. 3
68634089024. 4

| )

Question Number : 57 Question Id : 68634022530 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which mstrument 1s used to check blood pressure?

1. Oximeter

(]

. Glucometer

(5]

. Sphygmomanometer

4. Reflex hammer

Options :
68634089025. 1
68634089026. 2



68634089027. 3
68634089028. 4

Question Number : 57 Question Id : 68634022530 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B T IUH0 IGd 19 719 & fou v far Sar g
1. iR

fEpmiEniie

4. T ER.

Options :

68634089025. 1
68634089026. 2
68634089027. 3
68634089028. 4

| )

T

Question Number : 58 Question Id : 68634022531 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Death 1n India must be registered within
1. 15 days
2. 21 days

. 10 days

|5

4. 30 days

Options :

68634089029. 1
68634089030. 2
68634089031. 3
68634089032. 4

Question Number : 58 Question Id : 68634022531 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089029. 1
68634089030. 2
68634089031. 3
68634089032. 4

| ]
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Question Number : 59 Question Id : 68634022532 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The proportion of cases of specified disease or condition which are fatal within specified time:

1. Morbadity rate

[

. Mortality

3. Natality

4. Case fatality rate
Options :
68634089033. 1
68634089034. 2

68634089035. 3
68634089036. 4

Question Number : 59 Question Id : 68634022532 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[afRry I17 a1 Sa=yT & i H1 3T ofl U Had SHa H uldd ald &
1. IRTRAT R
R
3.9 R

| ]

4, Y YIdHdl &3,

Options :
68634089033. 1



68634089034. 2
68634089035. 3
68634089036. 4

Question Number : 60 Question Id : 68634022533 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oceurence in the community of a number of cases of disease that is unusgually large or unexpected and
happens in different parts of world at same time.

1. Endemic

. Pandemic

[

LF¥]

. Epidemic

4, Infection

Options :

68634089037. 1
68634089038. 2
68634089039. 3
68634089040. 4

Question Number : 60 Question Id : 68634022533 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089037. 1
68634089038. 2
68634089039. 3
68634089040. 4

Question Number : 61 Question Id : 68634022534 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A person suffering with 'renal failure’ should visit which department in Hospatal.

1. Neurology

(]

. Cardiology
3. Urology
4. Anesthesiology

Options :

68634089041. 1
68634089042. 2
68634089043. 3
68634089044. 4

Question Number : 61 Question Id : 68634022534 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ag afad forgep! fars-il el 81715 & 99 SRUdIe & fbd faum & S =gy,
1. RIS

K SUIRIE

3. g,

4. TR,

Options :

68634089041. 1
68634089042. 2
68634089043. 3
68634089044. 4

| )

Question Number : 62 Question Id : 68634022535 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Disaster Management Cycle does not include:

1. Preparation

o)

. Mitigation

L%

. Response

4. Funding to affected people

Options :
68634089045. 1
68634089046. 2



68634089047. 3
68634089048. 4

Question Number : 62 Question Id : 68634022535 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UG vayT 9% & o1 Iifed el g 2
1. qar
4. guIfad T T 3 SeTadT U AT,

Options :

68634089045. 1
68634089046. 2
68634089047. 3
68634089048. 4

| )

L

Question Number : 63 Question Id : 68634022536 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one is not a type of blood test?
1. Lipid profile
2.ECG

.FBC

|5

4. BNP

Options :

68634089049. 1
68634089050. 2
68634089051. 3
68634089052. 4

Question Number : 63 Question Id : 68634022536 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafafad 5 9 &F 91 U6 Iad THe0 8l 87
ifTs gwrga.

.ECG

-

[ S

3. FBC

4. BNP

Options :

68634089049. 1
68634089050. 2
68634089051. 3
68634089052. 4

Question Number : 64 Question Id : 68634022537 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Attention Deficit Hyperactivity Disorder (ADHD) 1s:

1. Common disorder in adults

(]

. Common neurological disorder of childhood
3. Common disorder m pregnant ladies

4. Common disorder in adult males

Options :

68634089053. 1
68634089054. 2
68634089055. 3
68634089056. 4

Question Number : 64 Question Id : 68634022537 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ADHD (31¢3F Sfhde geuRufaefad] f$uams) &
1. 90T H 9 fdoR
S99 ] §H RS fdeR
3. madl afgensl O 9 f[deR
4. 99 NI BT A f[dHR
Options :

68634089053. 1
68634089054. 2

[



68634089055. 3
68634089056. 4

Question Number : 65 Question Id : 68634022538 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lice are not vectors of:

1. Relapsing fever

[

. Q Fever

. Trench Fever

LF¥)

4. Epidemic Typhus

Options :

68634089057. 1
68634089058. 2
68634089059. 3
68634089060. 4

Question Number : 65 Question Id : 68634022538 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. QST (@R-aR 514 are) §8R
. Q-§¥R
4. TEHY AR

Options :

68634089057. 1
68634089058. 2
68634089059. 3
68634089060. 4

| )

Lad

Question Number : 66 Question Id : 68634022539 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a method of family planning?

1. Vasectomy

(]

. Copper-T

. Endoscopy

|5

4. Tubectomy

Options :

68634089061. 1
68634089062. 2
68634089063. 3
686340890064. 4

Question Number : 66 Question Id : 68634022539 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
et 9 & 9 uRar e ot ue faf =8 g2

1. 3YaIHt

PR
4. TgdIHl

Options :

68634089061. 1

68634089062. 2

68634089063. 3
68634089064. 4

| )

faa

Question Number : 67 Question Id : 68634022540 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT

LISTI LISTII
Heart Disease I. |Sugar
Diabetes 1I. JAlcohol

Cirrhosis of Liver] IIT. |[Cholesterol
F.oad Accident IV, [Non-use of seat bely

EEE

Choose the correct answer from the options given below:
1. A-III. B-IL, C-IV. D-I
2. A-IIL B-L. C-II. D-IV
3. AL B-I. C-IV, D-III

4. A-IL. B-IV. C-I11, D-I

Options :

68634089065. 1
68634089066. 2
68634089067. 3
68634089068. 4

Question Number : 67 Question Id : 68634022540 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 61 gl 11 9 fHaH Sifen

T 1 =T 11
fezmam I [
ERGHE 1L [Uhlela
ghdaiy |1 [elded
. [g=@ gueqr |1V [T g @1 ST 4 &l

FafaRad f[asedl § 9 9e! 3t &l 994 I

1. A-IIL. B-II. C-IV, D-I

glo|w| =

)

A-IIL B-I. C-IL. D-IV
3. A-IIL B-1. C-IV, D-III

4. A-IL. B-IV. C-I11, D-I

Options :

68634089065. 1
68634089066. 2
68634089067. 3
68634089068. 4



Question Number : 68 Question Id : 68634022541 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTIT
A |Sand Fly I. Palarnia
B. Mosquito 1I. [Epidemic Typhus
C. [Louse IT1. [Typhoid
D. House Fly IV [Kala Azar

Choose the correct answer from the options given below:

1. A-IV, B-I. C-I1. D-III

| ]

CA-IIL B-IL G-I D-IV

A-IL B-L. C-IIIL. D-IV

L¥ N

4. A-l, B-II. C-III. D-IV

Options :

68634089069. 1
68634089070. 2
68634089071. 3
68634089072. 4

Question Number : 68 Question Id : 68634022541 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 61 gl 11 9 fHaH Sifen
T 1 T 1T
A [Hewm I [Eeta
B. [=52 II. [HeMRT (TUei®) eEwd
C. [{ il GEUAEE
D. [Fedl IV. [l AR
FafdiRad faeedl § 9 98! 3’ @ 994 SIfo

1. A-IV. B-I. C-II. D-III

)

A-IIL B-II. C-1. D-IV

A-IL B-L. C-III. D-IV

T

4. A-L. B-II. C-III. D-IV

Options :

68634089069. 1
68634089070. 2
68634089071. 3



68634089072. 4

Question Number : 69 Question Id : 68634022542 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTIT
A |Anthropologist I. Human relationship and behaviour
B. Medical Social Worker| 11 |[Elderly care
C. [Sociologist II1. [Counselling of patients
D. |Genatrician I'V. [Phvsical. social, cultural history of man|

Choose the correct answer from the options given below:

1. A-I, B-III. C-IV, D-I1,

| ]

CA-IL B-IV, C-1, D-III

CA-TV, B-IOT, C-1 D-II

%)

4. A-III. B-IL. C-I. D-IV

Options :

68634089073. 1
68634089074. 2
68634089075. 3
68634089076. 4

Question Number : 69 Question Id : 68634022542 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oy

gt 1 o1 9= 11 ¥ e Sify

gt 1 T I
. [AE fagrH 1 [Adg gy 3R oUagR
i gise srod | 1L [gT &l aaHd
TS Sraddl 1L, R a1 O] e
SRIh® (TRUCAD| IV. [oidd &1 Hifdd, JMisd 2R Fikpidd 3iderd

frafofed famedt & 9 W6 SR &1 907 S -

1. A-I, B-III. C-IV, D-II,

ofo|w|»

| ]

CA-IL B-IV, C-IL D-III

CA-IV, B-IOLL C-I, D-II

L]

4. A-IIL, B-1I, C-I. D-IV

Options :
68634089073. 1



68634089074. 2
68634089075. 3
68634089076. 4

Question Number : 70 Question Id : 68634022543 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST IT
. |Glass waste I. |Yellow Bag (container)
Sharp and metal waste | II. |Red Bag (container)
Human anatomical waste| [I1. [Blue Bag (container)
. |Contaminated waste IV, [White Bag (container)

o|o|w|=

Choose the correct answer from the options given below:

1. A-IV, B-I, C-I11, D-II

| )

CA-ITL B-IL C-IV, D-III
3. A-TL B-TIV, C-II1, D-I
4. A-ITT. B-IV, C-1, D-II

Options :

68634089077. 1
68634089078. 2
68634089079. 3
68634089080. 4

Question Number : 70 Question Id : 68634022543 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 151 9= 11 9 e Sifoy

el 1 Tl I
NG EREE 1[G ST ()
U 3R afad® ufEm| 1L [aE &40 @)
HI1d DRI 3Og | 11 [Hid s (an)
R V. [qthg &7 (UE)

FafaRad [deel & 3 981 SR @1 9 S :

1. A-IV, B-1, C-I1I, D-II

gl o|w| =

| ]

CA-ILL B-L C-IV, D-IIT

CA-ITL B-IW, CA-IOTL D-I

Lad

4. A-IITL B-IV, C-1, D-II



Options :

68634089077. 1
68634089078. 2
68634089079. 3
68634089080. 4

Question Number : 71 Question Id : 68634022544 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I LISTII
A [Urmary tract infections I. |Ventilator associated
B. |[Surgical site infections II. |Contaminated gloves
C. Pneumonia IT1. |Catheter insertion
D. |Vascular device infections| IV, Joperation and wounds|

Choose the correct answer from the options given below:

1. A-I, B-II, C-IT1, D-IV

|

CA-IL B-IV, C-1. D-IT
3. A-TV, B-IIIL C-II, D-I
4. A-IV, B-1, C-11II, D-111

Options :

68634089081. 1
68634089082. 2
68634089083. 3
68634089084. 4

Question Number : 71 Question Id : 68634022544 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Oy o

gl 151 9= 11 9 e Sifoy

Tl eIt 11
[5G (uTh I [Bédey dad
ST ishaT Byl Fhav | 11 [Heftd exdH
EElIERn I11. [gA=Ie@ (3 Ue) Uia T
. [gaE- Iusn dhav IV, [HIUEH 3R 919

FafaRad [deel & 3 981 SR @1 9 S :

1. A-I, B-II. C-IIL. D-IV

gl o|w| =

| ]

CA-IL B-IV, C-IL D-11
3. ATV, B-II, C-IT, D-1

4. A-IV, B-1, C-II1, D-III

Options :

68634089081. 1
68634089082. 2
68634089083. 3
68634089084. 4

Question Number : 72 Question Id : 68634022545 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST IT
A MDGI1 I |Combat HIV/AIDS
B. MDG4 II. [Improve Maternal Health
C. MDG3 ITT. |Eradicate Poverty and Hunger
D MDGSH IV [Reduce Child Mortality

Choose the correct answer from the options given below:

1. A-I. B-III. C-IV. D-II

| )

A-IL B-IIL C-I. D-IV
3. AL B-IV, C-II. D-I

4. A-IV, B-II. C-I. D-III

Options :

68634089085. 1
68634089086. 2
68634089087. 3
68634089088. 4



Question Number : 72 Question Id : 68634022545 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 151 9= 11 9 e Sifoy

T 1 T I
A MDG1 I [EIV/AIDS T gabledl
B. MDG4 I [Higwd =4 § 4R
C. MDG3 111 [{ia R Y@w:t 3+
D. MDG6 IV [’ 0 e |
frrafaRed fameal & 4 W8l STk &1 =0 S -

1. A-I, B-III. C-IV, D-II

| ]

CA-ILL B-IOO, C-1 D-IV

CA-IT B-IV, C-I1, D-1

Lad

4. A-IV, B-1I, C-I, D-III

Options :

68634089085. 1
68634089086. 2
68634089087. 3
68634089088. 4

Question Number : 73 Question Id : 68634022546 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A PLANNING I. |Recruitment of training officer
B lorcanisivg | 11 Process of taking feedback and locking
at the plans

Preparing annual and mid-term
objectives of department

Determining what work needs to be done
to accomplish goals

C. |STAFFING ITT.

D. [CONTROLLING] IV.

Choose the correct answer from the options given below:
1. A-IIL B-TIV, C-1, D-1I
2. AL B-II C-IV, D-III
3. AL B-1, C-11, D-IV

4. A-IL. B-IV, C-I11, D-I

Options :
68634089089. 1



68634089090. 2
68634089091. 3
68634089092. 4

Question Number : 73 Question Id : 68634022546 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[

et 1 1 gl 1 ¥ fies sifon

T 1 =T 11
e E | L [eEaial o Yal aul TiEia
idd a1 | 1L [0 &1 681 AR Bisdd o @1 Wisdl
1% Hgied | 1L YR & 9aeig AR e 3edl &l ddR &l
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fFafofed fawedt 7 9 WEl SR &1 907 S .

1. A-III. B-IV, C-I, D-II

ofofw]>

| ]

AL BAILL C-IV, D-IT1
3. AL B-LL C-IL D-IV
4. A-I1. B-IV, C-I11, D-1

Options :

68634089089. 1

68634089090. 2

68634089091. 3
68634089092. 4

Question Number : 74 Question Id : 68634022547 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Biomedical concept of health is based on social and psychological factors.
Statement II: Biomedical concept of health 1s based on germ theory of disease.

In the hight of above statements, choose the correct answer from the options given below:.

1. Both Statement I and Statement IT are true

[ )

. Both Statement I and Statement II are false

. Statement I is true but Statement IT 15 false

L¥¥]

4. Statement [ 1s false but Statement I 15 true

Options :
68634089093. 1



68634089094. 2
68634089095. 3
68634089096. 4

Question Number : 74 Question Id : 68634022547 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e syfRum e .

Y [: WG P Slaraferedl HTURUN FT YR FrTfore duT FF1a31Hd 9e@ &
HYT 11: WY B Safier o] TR BT YR A7 T o Rgid g |

SRITd HYT & ATAS 1, = 130 70 fGemeai § T gt ™R &1 909 SIfar:

1. PYT IR PUTIUSHI TT &

| ]

FYF 1 AR UYL EAT 3T

YT A B, AT PUT I T &

L]

4. PYTITT . APTFYT LTI &

Options :

68634089093. 1
68634089094. 2
68634089095. 3
68634089096. 4

Question Number : 75 Question Id : 68634022548 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which 15 the correct full form of DDT?

1. Dichloro Di-phenyl - Trichloroethane

[

. Di-10do Diphenyl - trichloromethane
3. Di-bromo Diphenyl trichloroethane

4. Di-flouro Di-acetyl tr1 chloromethane

Options :

68634089097. 1
68634089098. 2
68634089099. 3
68634089100. 4

Question Number : 75 Question Id : 68634022548 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
f"afeiiad @ ¥ DDT 1 guie 3
1. SIEAR! SEh-gd- TgaaRl 54
. TS 3AIGS! - SIEthAISd - CIgaRl e
3. 513 9191 SEBEd R 3u-

| ]

4. ST WIRI SI3URIERd crsaaRl [Hdq

Options :

68634089097. 1
68634089098. 2
68634089099. 3
68634089100. 4

Question Number : 76 Question Id : 68634022549 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which 15 the basic genetic material for man and virus?

A DNA
B.ENA
C. Lipid
D. Fat

E. Protemn

Choose the correct answer from the options given below:

1. A. B and D only

| B

. A and B only
3. C and D only

4. A and E only

Options :

68634089101. 1
68634089102. 2
68634089103. 3
68634089104. 4

Question Number : 76 Question Id : 68634022549 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Od QYT AR (AN & o0 SMeRyd =i gar $H arg

A SITAT
B. JR.U4.T.
c. ferfus

D. a4l

E. WIdH

- fau TTe fam el # € Hel SR &1 997 S
1. %ad A, B 3R D

. Pad A AR B

.%dd C AR D

4.%dd ASRE

Options :

68634089101. 1
68634089102. 2
68634089103. 3
68634089104. 4

(R

i

Question Number : 77 Question Id : 68634022550 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Graphic presentation of health statistics are:

A. Paired 'T' test

B. Regression Analysis
C. Histograms

D. Bar charts

E. Pie charts

Choose the correct answer from the options given below:

1. A, Cand D only

| B

.B. Cand D only
3.C.D and E only

4.B.D and E only

Options :

68634089105. 1
68634089106. 2
68634089107. 3
68634089108. 4



Question Number : 77 Question Id : 68634022550 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
W@ HifeA®! BT At Ha=H B &:

A. gid T-4R1&00

B. IO f2eiyor (FRERH TATEEE)
c. e

D. §R I

E. OgdIc

=2 faw e fawedt | © 8t SR &1 957 T
1.%ad A.C 3R D

. Pad B, C AR D

.HadC, D IRE

4. $dd B, D IRE

Options :

68634089105. 1
68634089106. 2
68634089107. 3
68634089108. 4

| ]

Lad

Question Number : 78 Question Id : 68634022551 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The chronological sequence of discovery of following Biomedical equipments is:

A, CT-Scan

B. Ultra sound scan
C. X-ray

D. MRI

E. PET-CT Scan

Choose the correct answer from the options given below:

1.LEAD. B, C

| ]

B.C.D.AE
JE.C.B.AD

4 C.B.ADE

Options :
68634089109. 1
68634089110. 2



68634089111. 3
68634089112. 4

Question Number : 78 Question Id : 68634022551 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ Y - i W e

FHafdiade dEmHised U Bl 34 HAHR & Ble HHTIR Hdiey B

AT 2 A

B. 3egl U3 S &b
C. X-fopf

D. MRI

E. PET-CT b

- feu TTe famedl # € Hel SR &1 997 S

1.LEEAD.B.C

| ]

.B.C.D.A E
3. EEC.B.AD

4. C.B.AD.E

Options :

68634089109. 1
68634089110. 2
68634089111. 3
68634089112. 4

Question Number : 79 Question Id : 68634022552 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following management process in correct sequence:

A Planning
B. Leading
C. Organizing
D. Controlling
E. Staffing

Choose the correct answer from the options given below:

1L.LE,D,C.A,B

| B

.D.B.A.C.B
3JA.C.E.B.D

4. A B.C.D,E

Options :



68634089113. 1
68634089114. 2
68634089115. 3
68634089116. 4

Question Number : 79 Question Id : 68634022552 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ja Uichdl &b =RUIN I b Heg DI

A, TISHT
B.5qd

C. GITTSd DA
D. FgFm

E. I

i feu U fdsedi | ¥ 98l IR & 994 Hifo:

LE B CAB

| )

DB, AC.B
3.AC,E.B,D

4. A B, C.D.E

Options :

68634089113. 1
68634089114. 2
68634089115. 3
68634089116. 4

Question Number : 80 Question Id : 68634022553 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A: Emotional intelligence has components like Empathy, Motrvation and Social skills.
Reason R: Emotional intelligence is one of the essential competency of hospital management.

In the hght of above statements, choose the correct answer from the options given below:.

1. Both A and R and true and R 1s the correct explanation of A

[

. Both A and R and true and R 1s NOT the correct explanation of A

. A 1s true but B 1s false

[¥¥]

4. A 1s false and R 1s true

Options :



68634089117. 1
68634089118. 2
68634089119. 3
68634089120. 4

Question Number : 80 Question Id : 68634022553 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
14 3 PYF AU T: TP 3BT (Assertion A) B =0 T faRad & 0l GH YD PRI (Reason R) b &U I
ammwﬂmﬂﬁmmmyaﬁﬁm&mmﬁmmmﬁﬁﬁmmnwmﬁ$£MEaﬁ%
BRUI (R): GNP Gl HYTe aUS Bl HIRGD SEAHT T I TD 3 |
SIS B & ATdld H, Hid 3U U fasedi & I Jad Iugad 3R &1 99 SIfeU

1. AR R SH T E 3R R, A P! Tg! TSI §

2. ASIRR EFT T &, AfPT R A P i urem el ©

3. AT S, AfPIR 3T &

4, ATIE. APIRIT®

Options :

68634089117. 1
68634089118. 2
68634089119. 3
68634089120. 4

Question Number : 81 Question Id : 68634022554 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other 15 labelled as Reason R.

Assertion A: Hospital Management system enables hospital with a centralized platform to manage their
operations.

Reason R: HMS delays mundane processes and creates confusion in communication,
In the hight of above statements, choose the correct answer from the options given below.

1. Both A and R and true and R 1s the correct explanation of A

[

. Both A and R and true and R 1s NOT the correct explanation of A
3. A s true but R 1s false

4. A 1z false and R 1s true



Options :

68634089121. 1
68634089122. 2
68634089123. 3
68634089124. 4

Question Number : 81 Question Id : 68634022554 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089121. 1
68634089122. 2
68634089123. 3
68634089124. 4

Question Number : 82 Question Id : 68634022555 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A: In India, National Bureau if Blood Banks regulates the blood banks.

Reason R: License 15 needed for operating a blood bank.

In the hight of above statements, choose the correct answer from the options given below:.

1. Both A and R and true and R is the correct explanation of A

[

. Both A and R and true and R 13 NOT the correct explanation of A

. A 1s true but B 1s false

L¥¥]

4. A s false and R 1s true



Options :

68634089125. 1
68634089126. 2
68634089127. 3
68634089128. 4

Question Number : 82 Question Id : 68634022555 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 3 BUH AU §: UF HUBUT (Assertion A) & =0 H [1REd § A1 GHA IUD BRI (Reason R) B =0 H
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Options :

68634089125. 1
68634089126. 2
68634089127. 3
68634089128. 4

Question Number : 83 Question Id : 68634022556 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following events for the designed hospital management.

A. Dispense deug

B. Patient Card login

C. Visit to pharmacy

D. Disease diagnosed

E. Consultation with doctor

Choose the correct answer from the options given below:

1.b.ABC,D,E

| B

ByE, D, C A
JAEDB.C

4 E.D.C.B.A

Options :

68634089129. 1
68634089130. 2
68634089131. 3
68634089132. 4

Question Number : 83 Question Id : 68634022556 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafelad wers &1 sl 3udrd YA & 3R SIdiyd SIS,

A feTad

B. it HT18 @ 54

C. BT ST

D. AT &I HeH (S1a9E)
E. Slde} i 9dle

1.LA.B.C.D.E
2.B;E. D, C.A
A ED B C

4. E,D,C,B.A

Options :

68634089129. 1
68634089130. 2
68634089131. 3
68634089132. 4

Question Number : 84 Question Id : 68634022557 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 15 labelled as Reason R.
Assertion A: Waste produced in the course of health care activities carries a higher potential for infection.
Reason R: It 15 essential to have safe and reliable method for waste handling.

In the hight of above statements, choose the correct answer from the options given below:.

1. Both A and R and true and R is the correct explanation of A

[

. Both A and R and true and R 18 NOT the correct explanation of A

. A 15 true but B 1s false

L¥¥]

4, A 15 false and R 1s true

Options :

68634089133. 1
68634089134. 2
68634089135. 3
68634089136. 4

Question Number : 84 Question Id : 68634022557 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089133. 1
68634089134. 2
68634089135. 3
68634089136. 4

Question Number : 85 Question Id : 68634022558 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The department in the hospital which looks after the function of sterilization of equipments 1s:

1. Operation theatre

o)

. Standard sterilising agency
3. Central Sterile Supply department

4. Linen and Laundry department

Options :

68634089137. 1
68634089138. 2
68634089139. 3
68634089140. 4

Question Number : 85 Question Id : 68634022558 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT BT I8 fAHTT S SUSRUT & [aTHHI P SGHTT Pl &
. TR fduer
D1y fagema 3Tfd faum

4. TomA SR At faum

Options :
68634089137. 1
68634089138. 2

68634089139. 3
68634089140. 4
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Question Number : 86 Question Id : 68634022559 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The major cause of antimicrobial resistance is:

1. Poor patient compliance

o)

. Counterfeit drugs
3. Uncontrolled and mappropriate use of antibiotics

4. Sound alike and look alile medicine

Options :
68634089141. 1



68634089142. 2
68634089143. 3
68634089144. 4

Question Number : 86 Question Id : 68634022559 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tfd gerrsidl HRivedT & &8 HRUT 5-
TRIE AR ERT 3T
. Tl @y
3. SRt o1 sfif R e
4. Qe oIl fag @ =14 areft -t Serdl <an
Options :
68634089141, 1
68634089142, 2

68634089143. 3
68634089144. 4
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Question Number : 87 Question Id : 68634022560 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which case a person does not to be admitted immediately in trauma centre?

1. On falling down

[

. Tuberculosis

. Motor vehiele collisions

L%

4. Gun shot wounds

Options :

68634089145. 1
68634089146. 2
68634089147. 3
68634089148. 4

Question Number : 87 Question Id : 68634022560 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



0 9 fr fRufa § oofda &t aaTa 2 e & wdf o33 & 21awieudl el 872
1 TR 9=
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4. 9P B Tl & UId

Options :

68634089145. 1
68634089146. 2
68634089147. 3
68634089148. 4

| )

Question Number : 88 Question Id : 68634022561 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The department in the hospital which 1s primarily mvolved in supply and distribution of medicines 1s:
1. Pharmacy
2. O.P.D. services
3. Canteen services

4, Admission services

Options :

68634089149. 1
68634089150. 2
68634089151. 3
68634089152. 4

Question Number : 88 Question Id : 68634022561 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRYATE P a5 fAUFT S gg $9 9 Siufef &t srofd ok faaor & afffd e-
1. GBI
. O.PD. T@U
4, Yoif Fam

Options :
68634089149. 1

-
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68634089150. 2
68634089151. 3
68634089152. 4

Question Number : 89 Question Id : 68634022562 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The annual expenditure and revenue of the hospital or any organisation is stated n:

1. Finance Bill

[ o)

. Letter of Credit

. Debit Note

L¥¥]

4. Budget

Options :

68634089153. 1
68634089154. 2
68634089155. 3
68634089156. 4

Question Number : 89 Question Id : 68634022562 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ot Srgare a1 3= T &1 diid HY-o0g & Hed 6-

1. fo fagaes
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Options :

68634089153. 1
68634089154. 2
68634089155. 3
68634089156. 4

Question Number : 90 Question Id : 68634022563 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Nursing as a profession was developed by:

1. Elizabeth Forster

| ]

. Florence Nightingale
3. Raj Kumari Amrit Kaur

4. Ida Scudder

Options :

68634089157 1
68634089158. 2
68634089159. 3
68634089160. 4

Question Number : 90 Question Id : 68634022563 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089157. 1
68634089158. 2
68634089159. 3
68634089160. 4

Question Number : 91 Question Id : 68634022564 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not an eye care term=>

1. Rhinitis

[

. Cataract
3. Conjunctiva

4. Glaucoma

Options :
68634089161. 1
68634089162. 2



68634089163. 3
68634089164. 4

Question Number : 91 Question Id : 68634022564 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafafadd 9 S 91 739 SauTE &1 Ue/ s ol 87
1. TTghew
i TG
3. olidedl

4. TSI

Options :

68634089161. 1
68634089162. 2
68634089163. 3
68634089164. 4

| )

Question Number : 92 Question Id : 68634022565 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the correct statements:

A Incineration is a high temperature dry oxidation process to reduce organic waste
B. Incineration is highly recommended for hospital waste disposal.

C. It 1s done to treat waste that cannot be recycled, reused or disposed off in landfills.
D. Incineration is not recommended for organic infectious waste,

Choose the correct answer from the options given below:

1. A, C and D only

[

.B. C and D only
3. A. B and C only

4. A. B and D only

Options :

68634089165. 1
68634089166. 2
68634089167. 3
68634089168. 4

Question Number : 92 Question Id : 68634022565 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089165. 1
68634089166. 2
68634089167. 3
68634089168. 4

)

Question Number : 93 Question Id : 68634022566 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: National Family Health Survey (NFHS) - 5 reveals the total fertility rate (TFR) of India has
reached the Replacement Level.

Reason R: India reached replacement level because of one child policy.
In the light of above statements, choose the correct answer from the options given below.

1. Both A and R and correct and R 1s the correct explanation of A

[ ]

. Both A and R and true and R 1s NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A 1s not correct and R 15 correct

Options :

68634089169. 1
68634089170. 2
68634089171. 3
68634089172. 4



Question Number : 93 Question Id : 68634022566 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089169. 1
68634089170. 2
68634089171. 3
68634089172. 4

Question Number : 94 Question Id : 68634022567 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A child has multiple itchy popular lesions on the genitalia and fingers similar lesions are also seen in the
younger brother. Which of the following is the diagnosis:

1. Papular Urticaria

2. Scleroses

L¥¥]

. Atopic dermatitis

4. Allergic contact dermatitis

Options :

68634089173. 1
68634089174. 2
68634089175. 3
68634089176. 4

Question Number : 94 Question Id : 68634022567 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089173. 1

68634089174. 2

68634089175. 3
68634089176. 4
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Question Number : 95 Question Id : 68634022568 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Patients who require more focused care and advanced technology are admitted in:

1. General ward
2. Deluxe ward
3. Intensive care umt
4. Semi-private wards

Options :

68634089177. 1

68634089178. 2

68634089179. 3
68634089180. 4

Question Number : 95 Question Id : 68634022568 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089177. 1
68634089178. 2
68634089179. 3
68634089180. 4

Question Number : 96 Question Id : 68634022569 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X-rays were discovered by:

1. CWV Raman

o)

. Maxwell

L¥¥]

. Roentgen

4. 1.J. Thomson

Options :

68634089181. 1
68634089182. 2
68634089183. 3
68634089184. 4

Question Number : 96 Question Id : 68634022569 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. Yeol
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Options :

68634089181. 1
68634089182. 2
68634089183. 3
68634089184. 4

[ )

Question Number : 97 Question Id : 68634022570 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Iron is necessary for many functions i the body including formation of Haemoglobin. breast
development and regulation of body temperature.

Statement IT: Lack of iron in body directly affects the immune system and the production of antibodies.
In the light of above statements, choose the correct answer from the options given below:.

1. Both Statement I and Statement I are true

| B

. Both Statement I and Statement II are false
3. Statement I is true but Statement II 15 false

4. Statement [ is false but Statement I 15 true

Options :

68634089185. 1
68634089186. 2
68634089187. 3
68634089188. 4

Question Number : 97 Question Id : 68634022570 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089185. 1
68634089186. 2
68634089187. 3
68634089188. 4

Question Number : 98 Question Id : 68634022571 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Social class difference have also been observed in the family structure and utilization of medical
and health services in India.

Statement II: Families in the lower classes are bigger in size, women marrying early and bear more children
n India.

In the light of above statements, choose the correct answer from the options given below.

1. Both Statement I and Statement II are true

b2

. Both Statement I and Statement II are false
3. Statement I is true but Statement II 1s false

4. Statement I 1s false but Statement I 15 true

Options :

68634089189. 1
68634089190. 2
68634089191. 3
68634089192. 4

Question Number : 98 Question Id : 68634022571 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089189. 1
68634089190. 2
68634089191. 3
68634089192. 4



Question Number : 99 Question Id : 68634022572 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Health effect of air pollution are both immediate and delayed as bronchitis, asthma, COPD.
allergies and even lung cancer.Statement IT: Carbon monoxide is not among the major substances that pollute
air and leading to air pollution.

In the light of above statements, choose the correct answer from the options given below.

1. Both Statement I and Statement IT are true

(]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement 1T 1s false

4. Statement [ is false but Statement I is true

Options :

68634089193. 1
68634089194. 2
68634089195. 3
68634089196. 4

Question Number : 99 Question Id : 68634022572 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634089193. 1
68634089194. 2
68634089195. 3



68634089196. 4

Question Number : 100 Question Id : 68634022573 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 15 labelled as Reason R.

Assertion A: Some infections occur to the patient at the tune of admissions to the hospital.or after some time
i hospital.
Reason R: One of the reason for such infections 1s that patients are immunocompromised.

In the light of above statements, choose the correct answer from the options given below.

1. Both A and R and correct and R 1s the correct explanation of A

[

. Both A and R and true and R 1s NOT the correct explanation of A
3. A1s correct but R 1s not correct

4. A 1s not correct and R is correct

Options :

68634089197. 1
68634089198. 2
68634089199. 3
68634089200. 4

Question Number : 100 Question Id : 68634022573 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634089197. 1
68634089198. 2
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68634089199. 3
68634089200. 4



